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Cuadro 16 (continuación 3)/Table 16 (continued 3)
Panamá: tablas abreviadas de mortalidada

Panama: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.040 0.038  100 000  3 849  96 921 0.955 b 6 785 647 67.9
1 4 0.004 0.015  96 151  1 481  380 752 0.988 c 6 688 726 69.6
5 5 0.001 0.006  94 670   525  472 038 0.995 6 307 974 66.6

10 5 0.001 0.004  94 145   385  469 765 0.994 5 835 935 62.0
15 5 0.001 0.007  93 761   685  467 091 0.991 5 366 170 57.2
20 5 0.002 0.012  93 076  1 088  462 659 0.987 4 899 079 52.6
25 5 0.003 0.014  91 988  1 254  456 804 0.986 4 436 420 48.2
30 5 0.003 0.014  90 734  1 260  450 519 0.986 3 979 616 43.9
35 5 0.003 0.015  89 474  1 325  444 055 0.984 3 529 097 39.4
40 5 0.004 0.018  88 148  1 601  436 739 0.978 3 085 042 35.0
45 5 0.005 0.025  86 547  2 183  427 278 0.969 2 648 303 30.6
50 5 0.008 0.037  84 364  3 163  413 913 0.953 2 221 026 26.3
55 5 0.012 0.057  81 201  4 646  394 392 0.928 1 807 113 22.3
60 5 0.018 0.088  76 555  6 718  365 983 0.890 1 412 721 18.5
65 5 0.029 0.134  69 838  9 339  325 840 0.835 1 046 738 15.0
70 5 0.044 0.201  60 499  12 147  272 126 0.758  720 898 11.9
75 5 0.069 0.294  48 352  14 233  206 176 0.655  448 772 9.3
80 5 0.106 0.417  34 119  14 216  135 053 0.530  242 596 7.1
85 5 0.160 0.562  19 902  11 183  71 554 0.392  107 543 5.4
90 5 0.238 0.712  8 719  6 212  28 066 0.259  35 989 4.1
95 5 0.346 0.842  2 507  2 112  7 256 0.084 d  7 923 3.2

100 ω 0.593 1.000   395   395   667   667 1.7
Mujeres/Females

0 1 0.032 0.032  100 000  3 157  97 473 0.963 b 7 255 379 72.6
1 4 0.004 0.014  96 843  1 354  383 822 0.990 c 7 157 905 73.9
5 5 0.001 0.005  95 489   446  476 331 0.996 6 774 084 70.9

10 5 0.001 0.003  95 043   310  474 441 0.996 6 297 753 66.3
15 5 0.001 0.004  94 733   368  472 746 0.996 5 823 311 61.5
20 5 0.001 0.005  94 365   470  470 651 0.994 5 350 566 56.7
25 5 0.001 0.006  93 895   592  467 996 0.993 4 879 914 52.0
30 5 0.002 0.008  93 303   740  464 666 0.991 4 411 918 47.3
35 5 0.002 0.010  92 563   944  460 457 0.988 3 947 252 42.6
40 5 0.003 0.014  91 620  1 252  454 967 0.984 3 486 795 38.1
45 5 0.004 0.019  90 367  1 733  447 504 0.976 3 031 828 33.6
50 5 0.006 0.028  88 634  2 480  436 972 0.965 2 584 324 29.2
55 5 0.009 0.042  86 154  3 622  421 717 0.947 2 147 352 24.9
60 5 0.013 0.064  82 533  5 304  399 403 0.919 1 725 635 20.9
65 5 0.021 0.099  77 229  7 641  367 039 0.876 1 326 232 17.2
70 5 0.033 0.152  69 587  10 566  321 522 0.812  959 193 13.8
75 5 0.052 0.230  59 022  13 559  261 210 0.723  637 672 10.8
80 5 0.081 0.338  45 462  15 382  188 855 0.606  376 462 8.3
85 5 0.127 0.478  30 080  14 366  114 483 0.468  187 607 6.2
90 5 0.194 0.635  15 714  9 982  53 614 0.325  73 123 4.7
95 5 0.291 0.785  5 732  4 500  17 410 0.108 d  19 510 3.4

100 ω 0.587 1.000  1 232  1 232  2 099  2 099 1.7

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


